EARAROBREBRT —5 XN—ZXBISH—F

20224F585H (A) 40EH1E

10R

B2 UYSR4mLE

‘(fﬁ} W ‘I%EH?’JF&] | & 1000 =

[AE%] 17%&:1,300,000  ~ 23%&:520,000 ™  37%&:325,000 "  43&:195,000 @ . 5 3&:130,000 &

BERE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
1 NNSZEEIN i o4 S'IZJ%EE 1:(3_0).4 6-6-4-3 |39.3| — 4 (4_9;) gégg (Gicli2)
R:O—R7ZIVF«4X &:ZF [=iie]
1 - AESPEPPEY 4| B2 1(73?:)5 10-9-2-1 [39.0| — | 1 (4+331) g%% ()
RiXAY3vR—5— B:X«4¥ 390330 i —=
311]1|31vksUR Ho4 | BREE 1:(351).3 8-8-64 [39.9| — | 3 (4_7; EE;@ E(f@m)
RW—5—yvF B:SAYFUIa BEXERES
47/ 9| FVITR LTS 6 ﬁ%ﬁﬁ& 1:(321).6 9-10-10-8 |39.7 | — | 7 (4_145) %ﬁ(gg&ﬁ_(g)
R:AWTz—I)N B:FvUF4—S1(4Y HEI7—L
5 g|5— 56 ﬁ%ﬁﬁ 1( :31.? 7-7-8-7 |40.1| — | 12 | 439 Lﬁggﬁ (E@)
. NF ) | B
R:ITSvIILR BINEYY (-2) E:Z.E;m:—
. - — SEREL : === = =1
617110/ LY hy a5 4 8 5%%“5%3? 1.(311).8 2-2-1-2 | 40.8 2 (4_277) ilég*% (Gizl:2)
RATIRSAY BiF A RTy hFRS J=YYT7—L
7 )| 4IO—%+v7 #o4 | TTHES 1:(352).6 3356 |41.5| — | 5 | 47 ggg; (k)
, o= — (*#2) | =
X:Er/0704 B:ZZUARI— EOHS
g8l 7SvITF—35 o6 kug‘ﬁ’%ﬂﬂ 1:(322).9 1-1-25 21| - | 1 ?_253) g%ﬁé_@m)
R:XYUSTuR BATR—EREX BRI Y R
o — ft 6 | EMEE— 1:33.0 12-12-12-12| 39.1| — 10 | 519 |=SHTh @5
918111 59:73“ IV ) 5.0 e “3) NEES .
XR:O—RkAH73rO7 B:RIVATXILA (\) #B81—-RU—yavEEI7
10l5]5 | ~— B 7 *95%&21( (12313/243 4-5-9-10 | 42.0 | -— 9 508 jﬁé\;g (Em)
RIIAEY ML BRI—U—RA AR ey SN
nlsle | FIw—9 o4 | EAR (11:333/.47) 4479 |45 - | 6 (4+560) {Z%_;%Eg (&8
R:T7UA—Y H:0-AN/0— alssiie]
12BY 3| X¥v—O—u i 8 g.l().E(ﬂ)Eﬁk 1:(3(;4).7 1N-11-11-11| 42.3 | — 8 (4+561) ig%ﬁ (Em®)
RIANU—REVR BRTF—IRT—) I—L— - TNV - T7—LBRE
® 1—F—@BIEf
13—7F— 12,10,2,(5,6) ,4,8,1,9,7,3,11
20—7F— 12,10,2,6,5,4,8,1,7,9,3,11
30—+— 10, (7,12) ,4,2,1,6,8,5,9,3,11
43—F— 7,10,4,1,12,2,8,9,6,5,3,11
[ BN
B s 4 7600 | | 94 B 4-7 1704 % 3= 4-6 360 3EE 1-4-7 5504
B B 4 150/ 1-4 4004 Fs E 4-7 370 3&EE 4-7-1 4,420
7 100/ 1-7 2004 B8 4-7 1,480H4
1 170H

ABIC OV TRUTEREERRODDZE. THRIIZEL.




